Apartment in Swieqi



Swieqi, Sliema and St Julians Surroundings



€575,000

Total Rooms: 6

Bathrooms: 2

Floor Area (m²): 120

Reference No: 240491009-128

Bedrooms: 3

Apartment - For Sale - Swieqi

Apartment for Sale – Heart of Swieqi A beautifully redesigned apartment located in the heart of Swieqi, being sold fully furnished and ready to move into. Recently refurbished just six months ago, the property features: • Brand new kitchen appliances including electric hob, oven, microwave, fridge, and freezer • Smart TV and air conditioning in every room • Washing machine and tumble dryer • Bathrooms finished to high specifications A stylish, comfortable flat offering modern convenience and an excellent location — the perfect home or investment opportunity.

Features

- ✓ Lift
- En Suite
- Fire Place Heating
- Soffit Ceilings
- PVC Piping
- ✓ Wi-Fi
- Double Glazed
- Video Intercom
- ✓ Satellite / TV/ Cable

- Kitchen/Dinette
- Entrance Hall
- Electricity Utility
- Gypsum Plastering
- ✓ A/C
- Passenger Lift
- Balcony
- Alarm System

Rooms

Kitchen/Living/Dining: 5.6 x 3.1 m (17.36 m2)

✓ Bathroom : 1.8 x 2.5 m (4.5 m2)

Guest Toilet: 1.15 x 1.6 m (1.84 m2)

Double Bedroom : 3.3 x 3.7 m (12.21 m2)

Double Bedroom: 4.4 x 3.5 m (15.4 m2)

Double Bedroom: 3.3 x 2.7 m (8.91 m2)

Open Space : 1.3 x 4.9 m (6.37 m2)

Gallery























Andre Mifsud RE/MAX Partners - Fleur De Lys

M: 99467221

E: andre@remax.com.mt

T: 99467221

RE/MAX Partners - Fleur De Lys242, Triq Fleur De Lys, Fleur De Lys, Malta